Formule des angles associés

o cos(—x) = cosx

¢ sin(—z) = —sinx

¢ cos(m+x) = —cosx
¢ sin(m+z) = —sinx
e cos(m—x) = —cosw

m
® COS (§+x> = —sinx
. ™
® SIn <§+x) = COSZT
™ )
® COS (—— ) =sinx

. s
¢ SIn 5—513' — COS T

Identité remarquable
. (cosa)2 + (sina)2 =1

Formule des angles associés

e cos(—x) = cosx

¢ sin(—z) = —sinx

s cos(m+x) = —cosx
e sin(r+x) = —sinx
e cos(m—x) = —cosw

s
® COS (§+x> = —SsInx
. 78
e SIn <§—l—a:> = COoSZT
™ .
® COS (—— > =sinx

. ™
¢ S1I 5—33 = COST

Identité remarquable
. (cosa)2 + (sina)2 =1

Formule des angles associés

cos(—x) = cosx

sin(—z) = —sinx

cos(m+x) = —cosx
sin(m+z) = —sinx
cos(m—x) = —cosx

T
CcOS (§+£C) = —sinx
. ™
Sin <§+x) = COSZT
(ﬂ- ) !
cos | —— =sinx

Identité remarquable

(cosa)2 + (sina)2 =1

Formule des angles associés

cos(—x) = cosx

sin(—z) = —sinx

cos(m+x) = —cosx
sin(r+x) = —sinx
cos(m—x) = — cosx

s
CcOS (§+aj> = —sinx
. T
sin (§—l—x) = COoSZT
s
COS (—— > =sinx

Identité remarquable

(cosa)2 + (sina)2 =1
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® cos(—x) = cosw ¢ sin(—z) = —sinz
e cos(m+x) = —cosx  esin(r+zr) = —sinz
® cos(m—x) = —cosx  ®sin(r—zx) =sinx

® oS <g+x> = —sinz ®sin

® Ccos (E—x> =sinzx ® sin (
2 2
Identité remarquable

® (cosa)2+ (sina)2 =1

Formule des angles associés

® cos(—r) = cosx ¢ sin(—z) = —sinx
¢ cos(m+x) = —cosx  ®sin(rtx) = —sinx
e cos(m—x) = —cosx  ®sin(r—zx) =sinz
® oS <g+:17> = —sinz ®sin|(—+x) =cosz

T . . (
® COS <§—x> =sinz ® sin (
Identité remarquable

® (cosa)2+ (sina)2 =1

Formule des angles associés

® cos(—x) = cosw ¢ sin(—z) = —sinz
e cos(m+x) = —cosz  ®sin(n+z) = —sinz
e cos(m—x) = —cosx  ®sin(r—zx) =sinz
® cos <g+x> = —sinx ®sin (g+x) = cosx
® Cos (g—x> =sinx ® sin (——x) = COST

Identité remarquable

® (cosa)2+ (sina)2 =1

Formule des angles associés

® cos(—x) = cosw ¢ sin(—z) = —sinz

e cos(m+x) = —cosz  ®sin(n+z) = —sinz

e cos(m—x) = —cosx  ®sin(r—zx) =sinz

® cos <g+x) = —sinx ®sin (g+x) = cosx
T , (T

® cos <§—x> =sinz  ®sin (§—m> = cosx

Identité remarquable

® (cosa)2+ (sina)2 =1
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® cos(—x) = cosw ¢ sin(—z) = —sinz
e cos(m+x) = —cosx  esin(r+zr) = —sinz
® cos(m—x) = —cosx  ®sin(r—zx) =sinx

® oS <g+x> = —sinz ®sin

® Ccos (E—x> =sinzx ® sin (
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Identité remarquable

® (cosa)2+ (Sina)2 =1

Formule des angles associés

® cos(—z) = cosx ¢ sin(—z) = —sinx
e cos(m+x) = —cosx  ®sin(rtx) = —sinx
e cos(m—x) = —cosx  ®sin(r—z) =sinz

® oS <g+x> = —sinz ®sin|(—-+x) =cosz

7T . . (
® CoS (E—m> =sinz ® sin (
Identité remarquable

® (cosa)2+ (sina)2 =1

Formule des angles associés

® cos(—x) = cosx ¢ sin(—z) = —sinz
e cos(m+x) = —cosx  ®sin(r+z) = —sinz
e cos(m—x) = —cosx  ®sin(r—z) =sinz
® cos <g—i—x> = —sinx ®sin (g+x) = Ccosx
® Cos (g—x> =sinx ® sin (——x) = COST

Identité remarquable

® (cosa)2+ (sina)2 =1
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® cos(—x) = cosx ¢ sin(—z) = —sinx

e cos(m+x) = —cosz  ®sin(n+z) = —sinz

e cos(m—x) = —cosx  ®sin(r—z) =sinz

® cos (g—i-x) = —sinx ®sin (g+x) = cosx
T , (T

® cos (——x) =sinz  ®sin (——x) = cos
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Identité remarquable

® (cosa)2+ (sina)2 =1
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